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# LP : Line y=4 $~
(A) Parallel to Y-Axis
W Parallel to X-Axis

(B) Intersecting both axes
(D) Passes through origin
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# LP : A line segment is of length 5 cm. if the coordinates of its one end are
(2, 2) and that of the other end are (-1, x), then find the value of x.
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LA
@:/lf A (3, 5), B (-5,-4), C (7, 10) are the three vertices of a parallelogram
taken in the order, then find the co-ordinates of the fourth vertex.
1. (13, 17)
2. (15, 19)
3. (15,17)
4. (13, 19)
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# LP : The point R divides the line-segment AB, where A(-4, 0) and B(0, 6) are
such that AR =3 AB. Find the coordinates of R.
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# LP : Find the ratio in which®&-axis divides'the line segment joining the points

A(S, -6) and B(-1, -4). Also find thé coordinates of the point of division.
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# LP : Find the ratio in which the join of (1,3) and (2,7) is divided by the line
3x+y=9
1. 3:4

2. 1:2
3. 2:3
4, 3:7
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# LP : If (a, b) is the mid - point of the line segment joining the points A(10, -6)
and B(k, 4) and g 2b = 18, then find the value of k and the distance AB.
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#LP:IfA (O, -1),B(2,1) and C (0, 3) are the vertices of AABC then length of
medium drawn from A will be:

(A) 10 (B) /10

(C)/ S (D) None of these
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